E 0l &

A& & Al A

2A o4EH
M HH2AIH(YEH)
&lr J1=3| (et &)
SA - BB SRI(E) - KIRAY - BES of v e HIDEZ
Spsful 337,850 318,100 19,750
HAERHAH|(AEH) 79,500 72,350 7,150
Jl=2&Hl 79,500 72,350 7,150
Jl=3 79,500 72,350 7,150
201 Le+2H| 43,620 39,590 4,030
01 At22teld] 23,120 19,090 4,030
OgBt=ZH] 23,120
0I2ARES 100, 0002 %13¢! 1,300
OARRIID & HMARE 6,000,000& 6,000
0JIEH=2EHI 6,000,000& 6,000
0SS A257Y 150,000 %70 2~ 1,050
0 =ZH 30,000&*1Q1x15& 450
OBOIAREZ ZAl| 8,00021%1301x804! 8,320
02 S=324H| 20,500 20,500 0
OZ232= & MAl 11,500
IRER=S 1,500,000 1,500
&Rz 9,000,000& 9,000
0=E2= 2 HMMSL= 1,000,000& 1,000
O¢2Hl 1,000,000 1,000
OFAIE =Xt 3,000,000 3,000
OXt&= Al 5,000,000 5,000
202 Oid| 35,880 32,760 3,120
01 2L 35,880 32,760 3,120
OJ 2R304 200,000 %1321x12& 31,200
O380tl 30,000&*1321+12& 4,680
HYTXN2H(MEH) 10,120 10,120 0
FHNEE2SE 10,120 10,120 0
Q2 A 10,120 10,120 0
203 HRF&| 10,120 10,120 0
01 J|22dRF48| 6,600 6,600 0
OJ|Z2dgex=d 6,600,000& 6,600
02 HRIKHRFAH] 520 520 0
OFBIRIG RS2 40,0002 %13¢! 520
04 EM2EYRF| 3,000 3,000 0
ORM2aYRF 250,000 +12& 3,000
oEE 2R 118,230 105,630 12,600
Sclgra X3 112,230 99,630 12,600
ScleyEs2y 112,230 99,630 12,600
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